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Nate: (@) All questions are compulsory.

(b) Use of calculators is allowed.

Q. No Question CO Marks

What is the meaning of ‘Preference’ based approach of 1dent1fy1ng
i individual choice behaviour. Explain the three propexties whlch must | CO1 5
be fulfilled if preference relations (>), by an mdl, i al are to be
‘Normal’. '

2 | The utility function of a consumer is given as;.?-'-‘" "y

U=f(xy) = xy+x+2y+2

which is subject to the constraint functlon “4x+6y=130. Using the o .

Lagrange method, find: ‘
(a) The optlmal quantltles of x and y that will maximize the
consumer’s utility., . :
(b) The optimal level of _utlhty
(¢) Check for the: econd order condition using the Bordered-
Hessian Matrix - to prove that whether the U function is
maximum::

3 (a) Give the: mathematlca] derivation to prove that marginal rate of
substitution (MRS) is the slope of ratio of marginal utilities of two
goods (x and y) 2+3
(b) Explaln diagrammatically how consumer equilibrium is attained
through ordinal or IC approach.

OR Col

Determine whether the following utility functions obey the
assumption of diminishing MRS. Take any random utility value and
graph the typical IC for each utility function:
() U= Jxy 5
(b) U= X1/5 Y4-/5
{c) U=x3 + 2y?
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